
K
d

i
rz

.w
.7

6
,7

9
rz

.t.7
6

,5
0

K
d

2
7

7
,4

5
7

5
,5

0

W
łą

c
z
e

n
ie

 d
o

 is
tn

ie
ją

c
e

j s
tu

d
n

i b
e

to
n

o
w

e
j

k
a

n
a

liz
a

c
ji d

e
s
z
c
z
o

w
e

j. 
R

z
ę

d
n

a
 w

łą
c
z
e

n
ia

 7
5

,0
0

K
d

3
7

9
,0

3
7

5
,7

1K
d

4
7

9
,8

3
7

7
,4

0

K
d

5
8

0
,2

7
7

8
,2

5

K
d

6
8

0
,5

0
7

8
,5

0

K
d

7
8

2
,4

0
8

0
,7

0

K
d

8
7

9
,9

0
7

8
,5

6

W
p

6
7

9
,5

0
7

8
,0

9

W
p

5
7

9
,5

0
7

8
,0

9

K
d

1
9

8
0

,3
5

7
8

,8
5

W
p

1
9

8
0

,3
0

7
8

,6
0

K
d

1
8

8
0

,4
2

7
8

,6
0

K
d

1
7

8
0

,1
3

7
8

,4
0

K
d

1
6

7
9

,8
3

7
8

,2
0

K
d

1
5

7
9

,5
0

7
7

,7
0

K
d

2
0

7
9

,3
0

7
7

,7
5

W
p

1
7

8
0

,0
8

7
8

,3
8

W
p

1
6

7
9

,2
0

7
7

,5
0

W
p

1
5

7
9

,2
0

7
7

,5
0

K
d

1
4

7
8

,7
4

7
7

,1
0

K
d

1
3

7
8

,2
3

7
6

,5
0

W
p

1
3

7
8

,1
7

7
6

,4
7

K
d

1
2

7
8

,7
8

7
6

,2
5

K
d

1
1

7
8

,3
8

7
5

,4
5

W
p

1
2

7
8

,3
2

7
6

,6
2

W
p

1
4

7
8

,7
4

7
7

,0
4

K
d

1
0

7
8

,8
0

7
5

,7
5

W
p

1
1

7
8

,7
3

7
7

,0
3

W
p

4
8

0
,2

2
7

8
,5

2

W
p

3
7

9
,8

0
7

8
,1

0

K
d

9
8

0
,2

6
7

8
,4

5

W
p

9
8

0
,2

5
7

8
,5

5

W
p

1
0

8
0

,2
5

7
8

,5
5

Ø
2

0
0

L
=

 5
,6

 m
-5

,4
 ‰

L
=

 4
,5

 m
Ø

2
0

0

-6
,7

 ‰

L
=

 1
1

,3
 m

Ø
2

5
0

-5
,3

 ‰

L
=

 2
8

,6
 m

Ø
2

5
0

-6
6

,4
 ‰

L
=

 5
0

,4
 m

Ø
3

0
0

-5
,0

 ‰

L
=

 4
,1

 m
Ø

2
0

0

-2
4

,3
 ‰

L
=

 3
3

,2
 m

Ø
3

0
0

-1
0

,5
 ‰

L
=

 4
,1

 m
Ø

2
0

0
-2

4
,1

 ‰

Ø
2

5
0

L
=

 1
7

,1
 m

-3
2

,2
 ‰

Ø
2

0
0

L
=

 2
,1

 m

-2
3

,9
 ‰

L
=

 4
,1

 m
Ø

2
0

0

-2
4

,3
 ‰

W
p

1
7

9
,1

5
7

7
,4

5

Ø
3

0
0

L
=

 2
4

,9
 m

-4
6

,5
 ‰

Ø
5

0
0

L
=

 3
6

,0
 m

-5
,9

 ‰

L
=

 7
,6

 m
Ø

2
0

0

-1
3

,2
 ‰

Ø
4

0
0

L
=

 7
,8

 m

-5
,1

 ‰

W
p

2
7

9
,6

0
7

7
,9

0

L
=

 6
,6

 m
Ø

2
0

0
-1

5
,1

 ‰

Ø
2

0
0

L
=

 2
,2

 m

-1
3

,9
 ‰

Ø
4

0
0

L
=

 3
8

,6
 m

-5
,2

 ‰

Ø
2

0
0

L
=

 2
,7

 m

-2
6

,2
 ‰

Ø
4

0
0

L
=

 5
8

,5
 m

-5
,1

 ‰

Ø
4

0
0

L
=

 5
0

,4
 m

-5
,0

 ‰

Ø
2

0
0

L
=

 2
,8

 m

-2
5

,4
 ‰

Ø
4

0
0

L
=

 4
7

,8
 m

-1
2

,6
 ‰

Ø
2

0
0

L
=

 2
,3

 m

-1
7

,7
 ‰

Ø
4

0
0

L
=

 4
9

,0
 m

-1
2

,3
 ‰

Ø
4

0
0

L
=

 1
0

,4
 m

-4
8

,0
 ‰

L
=

 7
,6

 m
Ø

2
5

0

-6
,6

 ‰

L
=

 2
,9

 m
Ø

2
0

0

-1
7

,3
 ‰

Ø
2

0
0

L
=

 4
,6

 m
-2

1
,8

 ‰

Ø
2

5
0

L
=

 3
1

,9
 m

-6
,3

 ‰

Ø
2

0
0

L
=

 2
,6

 m

-3
1

,3
 ‰

Ø
2

5
0

L
=

 3
7

,3
 m

-5
,4

 ‰

Ø
2

5
0

L
=

 4
6

,9
 m

-5
,3

 ‰

L
=

 4
,6

 m

-2
1

,5
 ‰

W
p

1
8

8
0

,3
1

7
8

,6
1

Ø
2

0
0

L
=

 2
,3

 m

-2
5

,6
 ‰

Ø
5

0
0

L
=

 1
3

,3
 m

-5
,3

 ‰

Ø
5

0
0

L
=

 1
4

,6
 m

-6
,9

 ‰

W
p

8
8

2
,4

1
8

0
,7

1

Ø
2

0
0

L
=

 4
,5

 m
-2

4
,2

 ‰
K

d
3
1

8
5

,4
5

8
3

,7
5

W
p

3
4

8
5

,4
7

8
3

,7
7

W
p

3
3

8
5

,4
7

8
3

,7
7

K
d

3
0

8
5

,2
4

8
3

,1
0

Ø
2

5
0

L
=

 1
8

,9
 m

-1
3

,2
 ‰

L
=

 5
,6

 m

-2
1

,3
 ‰

L
=

 4
,7

 m

-2
1

,3
 ‰

K
d

2
9

8
4

,6
5

8
2

,6
5

Ø
3

0
0

L
=

 5
0

,1
 m

-9
,0

 ‰ W
p

3
1

8
4

,6
5

8
2

,9
5

W
p

3
2

8
4

,6
5

8
2

,9
5 L

=
 2

,5
 m

-2
0

,0
 ‰

L
=

 4
,2

 m

-2
4

,0
 ‰

K
d

2
8

8
3

,9
2

8
2

,0
0

Ø
3

0
0

L
=

 6
4

,8
 m

-1
0

,0
 ‰

K
d

2
4

8
3

,7
0

8
1

,6
0

L
=

 1
3

,3
 m

Ø
3

0
0

-8
,3

 ‰

W
p

3
0

8
3

,9
3

8
2

,2
3

W
p

2
9

8
3

,9
3

8
2

,2
3

L
=

 3
,0

 m
-2

6
,7

 ‰

L
=

 5
,0

 m

-1
6

,1
 ‰

K
d

3
3

8
5

,1
8

8
3

,4
0

K
d

2
6

8
6

,0
6

8
4

,5
0

W
p

2
7

8
6

,3
6

8
4

,6
6

K
d

2
5

8
4

,8
3

8
3

,0
3

L
=

 4
8

,5
 m

Ø
3

0
0

-3
5

,7
 ‰

W
p

2
6

8
6

,0
4

8
4

,3
4

L
=

 7
,2

 m

-1
9

,4
 ‰

W
p

2
5

8
4

,8
5

8
3

,1
5

W
p

2
4

8
4

,8
5

8
3

,1
5 L
=

 2
,9

 m

-1
7

,4
 ‰

L
=

 4
,6

 m

-2
1

,6
 ‰

Ø
3

0
0

L
=

 5
8

,9
 m

-1
9

,1
 ‰

K
d

2
3

8
3

,3
0

8
1

,5
0

L
=

 1
7

,5
 m

Ø
3

0
0

-5
,8

 ‰

W
p

2
3

8
3

,3
0

8
1

,6
0 W

p
2

2
8

3
,2

5
8

1
,5

5

Ø
2

0
0

L
=

 5
,9

 m

-1
7

,0
 ‰

L
=

 2
,0

 m

-2
5

,3
 ‰

K
d

2
2

8
0

,5
3

7
8

,2
0

W
p

2
1

8
0

,5
4

7
8

,8
4

W
p

2
0

8
0

,5
4

7
8

,8
4

L
=

 5
2

,3
 m

Ø
3

0
0

-5
3

,6
 ‰

L
=

 2
,3

 m
Ø

2
0

0

-1
7

,0
 ‰

Ø
2

0
0

L
=

 4
,3

 m
-2

1
,0

 ‰

K
d

2
1

8
0

,0
3

7
8

,2
5

L
=

 1
1

,5
 m

Ø
4

0
0

-3
9

,2
 ‰

L
=

 8
,8

 m
Ø

4
0

0

-5
,7

 ‰

W
p

3
7

8
5

,1
8

8
3

,4
8

K
d

3
2

8
5

,1
0

8
3

,2
0

W
p

3
8

8
5

,1
8

8
3

,4
8

Ø
2

5
0

L
=

 3
6

,7
 m

-5
,5

 ‰

L
=

 1
0

,7
 m

Ø
2

5
0

-9
,3

 ‰

L
=

 2
,7

 m

-2
9

,2
 ‰

L
=

 4
,4

 m

-2
2

,5
 ‰

W
p

3
6

8
5

,0
3

8
3

,3
3

W
p

3
5

8
5

,0
3

8
3

,3
3

L
=

 3
,2

 m

-2
5

,2
 ‰

L
=

 4
,9

 m

-2
6

,8
 ‰

W
p

7
8

2
,3

0
8

0
,6

0

Ø
2

0
0

L
=

 3
,9

 m

-2
5

,5
 ‰

K
d

2
7

8
6

,3
6

8
4

,8
0

W
p

2
8

8
6

,3
9

8
4

,6
9

L
=

 1
2

,5
 m

-2
4

,0
 ‰

L
=

 2
,2

 m
-2

7
,6

 ‰

L
=

 6
,0

 m

-2
3

,3
 ‰

Ø
2

0
0

Ø
2

0
0

Ø
2

0
0

Ø
2

0
0Ø

2
0

0

Ø
2

0
0

Ø
2

5
0

Ø
2

0
0

Ø
2

0
0

Ø
2

0
0

Ø
2

0
0

Ø
2

0
0

Ø
2

0
0

Ø
2

0
0

Ø
2

0
0

Ø
2

0
0

Ø
2

0
0

Ø
2

0
0

rz
.d

.7
4

,1
4

K
d

1
rz

.w
.7

6
,8

0
rz

.t.7
6

,6
0

rz
.d

.7
4

,6
0

P
rz

y
łą

c
z
e

 k
a

n
. s

a
n

it. 
d

o
 p

rz
e

ro
b

ie
n

ia

W
o

d
o

c
ią

g
 

d
o

 p
rz

e
ro

b
ie

n
ia

P
rz

y
łą

c
z
e

 w
o

d
.

d
o

 p
rz

e
ro

b
ie

n
ia

P
rz

y
łą

c
z
e

 w
o

d
.

d
o

 p
rz

e
ro

b
ie

n
ia

P
R

O
J

E
K

T
 Z

A
G

O
S

P
O

D
A

R
O

W
A

N
IA

 T
E

R
E

N
U

K
d

...
XY

W
p

...
XY

R
u

ra
 o

c
h

ro
n

n
a

 d
w

u
d

z
ie

ln
a

 

H
D

P
E

 Ø
1

1
0

 L
=

2
,0

m

R
u

ra
 o

c
h

ro
n

n
a

 d
w

u
d

z
ie

ln
a

 

H
D

P
E

 Ø
1

1
0

 L
=

2
,0

m

R
u

ra
 o

c
h

ro
n

n
a

 d
w

u
d

z
ie

ln
a

 

H
D

P
E

 Ø
1

1
0

 L
=

2
,0

m

R
u

ra
 o

c
h

ro
n

n
a

 d
w

u
d

z
ie

ln
a

 

H
D

P
E

 Ø
1

1
0

 L
=

2
,0

m

R
u

ra
 o

c
h

ro
n

n
a

 d
w

u
d

z
ie

ln
a

 

H
D

P
E

 Ø
1

1
0

 L
=

2
,0

m

R
u

ra
 o

c
h

ro
n

n
a

 d
w

u
d

z
ie

ln
a

 

H
D

P
E

 Ø
1

1
0

 L
=

2
,0

m

R
u

ra
 o

c
h

ro
n

n
a

 d
w

u
d

z
ie

ln
a

 

H
D

P
E

 Ø
1

1
0

 L
=

2
,0

m

R
u

ra
 o

c
h

ro
n

n
a

 d
w

u
d

z
ie

ln
a

 

H
D

P
E

 Ø
1

1
0

 L
=

2
,0

m

R
u

ra
 o

c
h

ro
n

n
a

 d
w

u
d

z
ie

ln
a

 

H
D

P
E

 Ø
1

1
0

 L
=

2
,0

m

R
u

ra
 o

c
h

ro
n

n
a

 d
w

u
d

z
ie

ln
a

 

H
D

P
E

 Ø
1

1
0

 L
=

2
,0

m

R
u

ra
 o

c
h

ro
n

n
a

 d
w

u
d

z
ie

ln
a

 

H
D

P
E

 Ø
1

1
0

 L
=

2
,0

m

R
u

ra
 o

c
h

ro
n

n
a

 d
w

u
d

z
ie

ln
a

 

H
D

P
E

 Ø
1

1
0

 L
=

2
,0

m

R
u

ra
 o

c
h

ro
n

n
a

 d
w

u
d

z
ie

ln
a

 

H
D

P
E

 Ø
1

1
0

 L
=

2
,0

m

P
ro

j. w
g

 o
d

d
z
ie

ln
e

g
o
 o

p
ra

c
o

w
a
n

ia
w

o
d

.  ø
9
0
  R

o
=

7
7

,2
8

P
ro

j. w
g

 o
d

d
z
ie

ln
e

g
o
 o

p
ra

c
o

w
a
n

ia
w

o
d

.  ø
9
0
  R

o
=

7
7

,8
7

P
ro

j. w
g

 o
d

d
z
ie

ln
e

g
o
 o

p
ra

c
o

w
a
n

ia
k
a
n

. s
a

n
. ø

2
0
0

  R
d

=
7

5
,0

9


